
  

 

 

Tote     XL 
Front Basket 

 

 

 

 

 

 

 

OWNER’S MANUAL 

 
 



 
 
 
 
 
 
 
 
 
 
 
 
Tools Needed 

1. 1.5mm hex wrench 
2. 3mm hex wrench 
3. 8mm box wrench 
4. Diagonal cutters 

 
 

1. Turn off the bike and remove the battery from the bike. 
2. Take the basket out of its packaging and ensure all parts are present. 
A. 1 basket 
B. 1 light extension wire 
C. 1 M5 nut 

 
3. Using the 5mm hex wrench, remove the 4 mounting bolts from the 

headtube mounting points. 
4. Disconnect the headlight wire and remove the headlight wire from its 

current mounting point using the 3mm hex wrench. 
5. Position the basket on the front of the bike by hand and align the 4 bolt 

holes with the 4 mounting points on the frame. Pay attention to the path 
of cables and wires during the process. If any of them are bent at sharp 
angles or kinked, reposition them until the kink or bend is eliminated. 

6. Thread each of the 4 mounting bolts through the basket into the frame 
one at a time and tighten by hand. 

7. With the basket loosely fixed to the frame, use the 5mm hex wrench to 
slowly tighten each bolt until each is snug, but still allows  the basket to 
be moved with slight force. 



8. At this time, make sure the basket is level. Adjust by hand if needed. 
Once you are happy with its position, tighten all 4 bolts (6Nm for those 
using a torque wrench). 

9. With the basket now installed, the headlight can be repositioned to the 
front of the basket. The front plate has an M5 hole. With the light 
bracket held in position by hand, run the light mounting screw through 
the bracket and hole. Then spin the included M5 nut onto the screw by 
hand. 

10. Finish by tightening with the 3mm hex wrench and 8mm box wrench. 
11. Connect the included wire extensions to the headlight and then to the 

original light wire that runs into the frame. Use the included zip ties to fix 
the wire extension to the mounting points on the underside of the 
basket. Use the diagonal cutters to trim the excess zip tie for a clean 
look.  

12. Use basket to carry stuff :)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
Tools Needed 

1. Cié hexagonale de 5 mm 
2. Clé hexagonale de 3 mm 
3. Cié à douille de 8mm 
4. Pince coupante diagonale 

 
1. Éteignez le vélo et retirez la batterie du vétio. 
2. Sortez le panier de son emballage et assurez-vous que toutes les pièces 

sont présentes. 
A. 1 panier 
B. 1 rallonge de lumière 
C. 1 écrou M5 

 
3. A l'aide de la clé hexagonale de 5mm, retirez les 4 boulons de montage 

des points de montage du tube de direction. 
4. Débranchez le fil du phare et retirez le phare de son point de montage 

actuel a l’aide. 
5. Positionnez le panier à l'avant du vélo à la main et alignez les 4 trous de 

boulons avec les 4 points de montage sur le cadre. Feltes attention au 
chemir des câbles et des fils pendant ce processus. Si fun d’entre eux est 
plié à angle vif ou pilé, repositionnez-vous jusqu'à ce que le pli ou la 
courbure soit éliminé.  

6. Vissez chacun des 4 boulons de montage à travers le panier dans le 
cadre un à la fois et serrez à la main.  

7. Avec le panier fixe sans serre au cadre, utilisez la clé hexagonale de 
5mm pour serrer lentement chique boulon jusqu'à ce que chacun soit 
bier ajusté, mais permet toujours au panier d'être déplacé avec une 
légère force.  



8. A ce stade, assurez-vous que le panier est de niveau. Ajustez à la main si 
nécessaire. Une fois que vous êtes satisfait de sa position, serrez les 4 
boulons (6 Nm pour ceux qui utilisent une clé dynamométrique).  

9. Une fois le panier installé, le phare peut être positionné à l’avant du 
panier. La plaque avant a un trou M5. Avec le support de lumière 
maintenu en position à la main; faites passer la vis de montage de la 
lumière a travers ie support et ie trou. Vissez ensuite l'écrou M5 fourni 
sur la vis a la main.  

10. Terminex en serrant avec la cie hexagonale de 3mm et le cié à douille de 
8mm.  

11. Connectez l’extension de fil incluse au phare, puis au fil de lumière 
d’origine qui passe dans le cadre. Utilisez les attaches zippées incluses 
pour fixer l’extension de fil aux points de montage sur le dessous du 
panier. Utilisez les pinces coupantes diagonales pour couper l'excédent 
de lien zip pour couper l'excédent de lien zip pour un look propre. 

12. Utilisez le panier pour transporter des choses. 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

 
 
 
 
 
 
 
 
 

Contact Us 
 

Need some help with your new gear? Just want to say “hey” and  
talk to someone on our team? We’re here for that too. 

. 
 

 

 

 

 

 

 

 

 
Give us a follow, while you’re at it: 

@retrospec  
#retrospec 

#readytooutdoor 
 

 

 

 

 


	  
	 
	 
	Tote     XL 
	 
	 
	 
	 
	 
	 
	OWNER’S MANUAL 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	Contact Us 


